[image: image1.png]


STRAYER UNIVERSITY

Systems Analysis and Development – CIS 210
Final Exam 
Quarter:  Winter 2007
Instructor: Prof. Mort Anvari (202) 294-4230  Morteza@Anvari.net 
Class Web Site: http://www.anvari.net 

	
1.
	Identification and assessment of all possible systems development projects that an organization unit can undertake is conducted during:

a.
project identification and selection

b.
project initiation and planning

c.
physical design

d.
analysis

Answer:




	
2.
	Research has found that projects identified by top management more often:

a.
have a narrow, tactical focus

b.
reflect diversity and have a cross-functional focus

c.
have a strategic, organizational focus

d.
will integrate easily with existing hardware and systems

Answer: 


	
3.
	Which of the following characteristics is associated with the steering committee selection method?

a.
greater strategic focus

b.
greater organizational change

c.
fewer users, management layers, and business functions

d.
less concern on cost-benefit analysis

Answer:



	
4.
	The extent to which the project is viewed as helping the organization achieve its strategic objectives and long-term goals describes:

a.
potential benefits

b.
resource availability

c.
technical difficulty or risks

d.
strategic alignment

Answer:


	
5.
	Which of the following is a need for improved information systems project identification and selection?

a.
The costs of information systems are steadily decreasing.

b.
Many systems can handle applications that cross organization boundaries.

c.
Data redundancy is often out of control, and users may have little confidence in the quality of the data.

d.
Systems maintenance costs are well under control.

Answer:




	
6.
	The method by which an organization attempts to achieve its mission and objectives best defines:

a.
critical success factors

b.
competitive strategy

c.
business policy

d.
information systems plan

Answer: D



	
7.
	Which of the following is a competitive strategy?

a.
low-cost producer

b.
product differentiation

c.
product focus

d.
all of the above

Answer:




	
8.
	Which of the following is a true statement regarding ISP?

a.
During ISP, the current and future information needs of an organization are modeled.

b.
Strategies and project plans to migrate the current information systems and technologies to their desired future state are developed.

c.
ISP is a top-down process that takes into account the outside forces (industry, economic, relative size, geographic region, etc. . .)

d.
all of the above 

Answer:


	
9.
	A generic information systems planning methodology that attempts to gain a broad understanding of the information system needs of the entire organization defines:

a.
bottom-up planning

b.
top-down planning

c.
democratic planning

d.
foundation planning

Answer:



	
10.
	Which of the following is an advantage to the top-down planning approach over other planning approaches?

a.
broader perspective

b.
improved integration

c.
better understanding

d.
all of the above 

Answer:




	
11.
	An advantage of the bottom-up approach is:

a.
identifying pressing organizational problems

b.
broader perspective

c.
improved integration

d.
better understanding

Answer:



	
12.
	This matrix identifies which data are created, updated, accessed, or deleted in each system.

a.
data entity-to-information system

b.
process-to-information system

c.
information system-to-objective

d.
process-to-data entity

Answer:



	
13.
	The third activity in the ISP process is:

a.
describe the target situation, trends, and constraints

b.
describe the current situation

c.
developing a transition strategy and plans

d.
develop the logical design

Answer:


	
14.
	Which of the following is not a component on the typical information systems plan?

a.
corporation history

b.
constraints on IS development

c.
informational inventory

d.
the short-term plan

Answer:


	
15.
	As a rule of thumb estimate, what percentage of the entire development effort should be devoted to the project initiation and planning process?

a.
between 10 and 20 percent

b.
less than 5 percent

c.
less than 10 percent

d.
between 20 and 30 percent

Answer:




	
16.
	Activities designed to assist in organizing a team to conduct project planning is the focus of:

a.
project planning

b.
project identification and selection

c.
project initiation

d.
analysis 

Answer:
c



	
17.
	How is project planning distinct from general information systems planning?

a.
General information systems planning focuses on assessing the information systems needs of the entire organization.

b.
Project planning focuses on assessing the information systems needs of the entire organization.

c.
General information systems planning focuses on defining clear, discrete activities and the work needed to complete each activity within a single project.

d.
Project planning focuses on defining discrete activities needed to complete all projects.

Answer:



	
18.
	A  major outcome and deliverable from the project initiation and planning phase that contains the best estimate of a project’s scope, benefits, costs, risks, and resource requirements defines the:

a.
Baseline Project Plan

b.
Information Systems Plan

c.
Mission Statement

d.
Statement of Work

Answer:


	
19.
	A document prepared for the customer during project initiation and planning that describes what the project will deliver and outlines generally at a high level all work required to complete the project is the:

a.
Information Systems Plan

b.
Statement of Work

c.
Mission Statement

d.
Baseline Project Plan

Answer:


	
20.
	A savings of $3,000 resulting from a data entry error correction would most likely be classified as a(n):

a.
intangible benefit

b.
qualitative benefit

c.
tangible benefit

d.
operational benefit

Answer:


	
21.
	A cost associated with an information system that can be measured in dollars and with certainty is referred to as a(n):

a.
economic cost

b.
tangible cost

c.
intangible cost

d.
one-time cost

Answer:


	
22.
	Capital costs, management and staff time, and consulting costs are examples of:

a.
project-related costs

b.
operating costs

c.
start-up costs

d.
procurement costs

Answer:


	
23.
	Which of the following would be classified as an intangible cost?

a.
hardware costs

b.
labor costs

c.
employee morale

d.
operational costs

Answer:



	
24.
	A cost resulting from the ongoing evolution and use of a system refers to a(n):

a.
recurring cost

b.
one-time cost

c.
incremental cost

d.
frequent cost

Answer:


	
25.
	The rate of return used to compute the present value of future cash flows refers to:

a.
discount rate

b.
investment rate

c.
transfer rate

d.
future cash flow rate

Answer:



	
26.
	The ratio of the net cash receipts of the project divided by the cash outlays of the project, enabling tradeoff analysis to be made between competing projects is often referred to as:

a.
return on investment (ROI)

b.
break-even analysis (BEA)

c.
net present value (NPV)

d.
future value (FV)

Answer:


	
27.
	When conducting a technical risk assessment, which of the following is true?

a.
A project has a greater likelihood of experiencing unforeseen technical problems when the development group lacks knowledge related to some aspect of the technology environment.

b.
Large projects are riskier than small projects.

c.
Successful IS projects require active involvement and cooperation between the user and development groups.

d.
all of the above

Answer:


	
28.
	The number of members on the project team, project duration, and the number of organizational departments involved in the project are examples of which of the following risk factors?

a.
development group

b.
project structure

c.
project size

d.
user group

Answer:


	
29.
	To gain an understanding of how key stakeholders within the organization view the proposed system is the purpose of:

a.
technical feasibility

b.
legal and contractual feasibility

c.
political feasibility

d.
operational feasibility

Answer:


	
30.
	At a walkthrough meeting, the person (or group) who ensures that the work product meets the needs of the project’s customers is referred to as the:

a.
coordinator

b.
user

c.
maintenance oracle

d.
standards bearer

Answer:



	
31.
	Which of the following is an example of a web-based platform cost?

a.
ongoing design fees

b.
server software

c.
direct mail

d.
training and travel

Answer:


	
32.
	The first sub-phase of analysis is:

a.
alternative generation and choice

b.
requirements structuring

c.
requirements determination

d.
project identification and selection

Answer:


	
33.
	The impartiality characteristic of a good systems analyst is represented by which of the following statements?

a.
You must challenge yourself to look at the organization in new ways.

b.
Your role is to find the best solution to a business problem or opportunity.

c.
Assume anything is possible, and eliminate the infeasible.

d.
You should question everything.


Answer:


	
34.
	The primary deliverables from requirements determination include:

a.
analyzed responses from questionnaires

b.
transcripts of interviews

c.
notes from observation and from analysis documents

d.
all of the above 

Answer:


	
35.
	Traditional methods of collecting systems requirements include:

a.
individually interview people

b.
survey people via questionnaires

c.
interview groups of people

d.
all of the above

Answer:


	
36.
	One advantage of open-ended questions in an interview is:

a.
a significant amount of time can be devoted to each interviewee

b.
the interviewee is restricted to providing just a few answers

c.
previously unknown information can result

d.
they work well when the answers to the questions are well known

Answer:


	
37.
	Good interview guidelines consist of:

a.
phrasing the question to illicit the correct response

b.
typing your notes within two weeks of the interview

c.
establishing expectation levels about the new system

d.
seeking a variety of perspectives from the interviews

Answer:


	
38.
	Comparing interviews to questionnaires, which of the following is correct?

a.
Using a questionnaire enables the interviewer to identify the interviewee.

b.
The involvement of the subject via the questionnaire is very active.

c.
The potential audience of an interview can be quite large.

d.
The time required to administer a questionnaire is low to moderate.

Answer:


	
39.
	Which of the following is a disadvantage to group interviewing?

a.
Group interviewing does not effectively utilize your time.

b.
Interviewing several people together allows them to hear the opinions of other key people.

c.
Group interviewing requires significantly more time than does the JAD process.

d.
Scheduling group interviews can be a problem.    

Answer:


	
40.
	Which of the following documents are useful in understanding possible future system requirements?

a.
written work procedures

b.
documents that describe the current information system

c.
reports generated by current systems

d.
all of the above

Answer:


	
41.
	If your analysis of several written procedures reveals a duplication of effort in two jobs, you should:

a.
indicate that one job be deleted from the new system

b.
call the duplication to the attention of management as an issue to be resolved before system design can proceed

c.
justify the duplication of effort

d.
restructure the tasks so that the duplication is removed

Answer:


	
42.
	Which of the following is not a modern method for collecting system requirements?

a.
interviewing

b.
group support systems

c.
CASE tools

d.
Joint Application Design

Answer:


	
43.
	The trained individual who plans and leads Joint Application Design sessions is referred to as the:

a.
scribe

b.
JAD session leader

c.
JAD manager

d.
JAD contributor

Answer:


	
44.
	Drawbacks to prototyping include:

a.
a tendency to avoid creating formal documentation of systems requirements which can then make the system more difficult to develop into a fully working system

b.
prototypes becoming very idiosyncratic to the initial user and difficult to diffuse or adapt to other potential users

c.
prototypes being built as stand-alone systems

d.
all of the above

Answer:


	
45.
	The structured, measured set of activities designed to produce a specific output for a particular customer or market best defines:

a.
formal systems

b.
key business processes

c.
secondary activities

d.
production systems

Answer:


	
46.
	Which of the following technologies disrupted the business rule that information can appear only in one place at a time?

a.
high-performance computing

b.
distributed databases

c.
expert systems

d.
advanced telecommunications networks

Answer:


	
47.
	Which of the following is not one of the four types of data flow diagrams?

a.
current physical

b.
current logical

c.
updated physical

d.
new physical

Answer:


	
48.
	Data flow diagrams that specify what people and technologies are used in which processes to move and transform data, accepting inputs and producing outputs are referred to as:

a.
logical data flow diagrams

b.
reference data flow diagrams

c.
current physical data flow diagrams

d.
logistic data flow diagrams

Answer:



	
49.
	Student data contained on an enrollment form is represented on a data flow diagram as a:

a.
process

b.
data flow

c.
source

d.
data store

Answer:


	
50.
	A file folder containing orders is represented on a data flow diagram as a:

a.
process

b.
source

c.
data flow

d.
data store

Answer:


	
51.
	A supplier of auto parts to our company is represented on a data flow diagram as a:

a.
process

b.
source

c.
data flow

d.
data store

Answer:


	
52.
	An arrow on a data flow diagram represents a:

a.
data store

b.
data flow

c.
process

d.
source/sink

Answer:


	
53.
	If two processes are connected by a data flow, they are said to:

a.
share the same timing effects

b.
share the same data

c.
be coupled to each other

d.
be strapped to each other

Answer:


	
54.
	A black hole is one that:

a.
has only inputs

b.
has only outputs

c.
has not been exploded to show enough detail

d.
has insufficient inputs to produce the associated processes

Answer:


	
55.
	Which of the following is not a true statement regarding data flows?

a.
A fork in a data flow means that exactly the same data goes from a common location to two or more different processes, data stores, or sources/sinks.

b.
A data flow can go directly back to the same process it leaves.

c.
A data flow has a noun phrase label.

d.
A data flow has only one direction of flow between symbols.

Answer:


	
56.
	A DFD that is a result of three nested decompositions of a series of sub-processes from a process on a level-0 diagram defines a:

a.
level-3 diagram

b.
level-1 diagram

c.
level-2 diagram

d.
primitive diagram

Answer:


	
57.
	If an input from a source appears at level-0, it must:

a.
appear on the context diagram

b.
be connected to a data flow

c.
be connected to a sink

d.
be connect to a data store

Answer:


	
58.
	If your DFD contains data flows that do not lead anywhere, it is not:

a.
gap proof

b.
a primitive diagram

c.
complete

d.
consistent

Answer


	
59.
	When you believe that you have shown each business form or transaction, computer screen, and report as a single data flow, you have probably reached the:

a.
level-0 diagrams

b.
level-1 diagrams

c.
primitive data flow diagrams

d.
level-3 diagrams

Answer


	
60.
	The lowest level of decomposition for a data flow diagram is called the:

a.
context diagram

b.
level-0 diagram

c.
level-1 diagram

d.
primitive diagram

Answer:



�
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